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QUESTION 1

The report author creates a query where two items (TopThree and Retailer country) exist in the same member set. The
expression for TopThree is: topCount([Retailer country],3,[Revenue]).

Revenue 20078 > Revenue 2007
s#&TopTreed> | <#12344> _CDME.-" Gl _ 4,602, 568.55
S TupHirees e . LOF e & g .Jf"'f[:g.a-.ﬂ'u_f.-"r:f. . . J53, 436, 50

Soaeting Goass Qiect R

= B Retailer country M3 : : |
; Exframe Cufdnaes IR 752, 468,07
B TopThies 5 Hr..ns:-fcg E?L.;'L;Fxftérf- | 565, 645,45
Reyenue 2007 -;.‘.';‘:le Sportr Sacfory . o T
Lited Stater | 194, 312, 000.17 The Marketpisce | 6,316, 354.64
Japan ' 03, 700, 254, 16 - _Hi:_vff_m-in’_j_r | & 957,201.00
@y | FOE33 35706 Sporf Barameant G617, 950, 75
Weston Outfiters | 3 786,003.09

What drill behavior should the report author set in order to display the top three children instead of all children on drill
down?

A. Configure TopThree to Change Expression, and configureRetailer country to Preserve.
B. Configure TopThree to Preserve, and configure Retailer country to Preserve.

C. Configure TopThree to Preserve, and configure Retailer country to Replace Expression.
D. Configure TopThree to Ancestor, and configure Retailercountry to Change Expression.

Correct Answer: C

QUESTION 2

A report author creates the following nestedreport using 2 adjacent levels of the same hierachy. Users should be able to
drill down on the inner nesting with the outer nesting remaining unchanged.
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What advanced drilling behavior should the report author use to achieve this?
A. Replace Expression

B. Depth Based Expression

C. Preserve

D. Replace Item

Correct Answer: C

QUESTION 3

Consumers want a report to compare the revenue and quantity sold for all product lines in a selected quarter, to the
same quarter for the previousyear. They also want to see the total for periods, up to and including the quarter selected.
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Equiprent

Which of the following dimensional functions could the report author use to create this report?
A. Ancestor, currentMember, lead, total
B. OpeningPeriod, order, quarter, Firstsibling

C. Cousin, tuple, closingPeriod, aggregate
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D. ParallelPeriod, tuple, periodsToDate, aggregate

Correct Answer: D

QUESTION 4

What kind of authoring style uses the filter function?
A. Relational

B. Conformed

C. Dimensional

D. DMR

Correct Answer: C

QUESTION 5

Which of the following is true if a report author nests members in a crosstab report?
A. Nested members are also known as complex members.

B. The inner membermust be on the level immediately below the outer member.

C. Nested members must be members of hierarchies, not of the Measures folder.
D. It is possible to nest members from different dimensions.

Correct Answer: D
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